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1)  Put the digits 1, 4 and 6 in the boxes to make a number  
     between  300 and 500. 
 
                                     
 
 
 
2)  Put the digits 2, 4, 7 and 9 in the boxes to make a number  
     between  5 000 and 8 000. 
 
                                     
 
 
3)  Write in the missing numbers: 
 
 
     

                        +  63  = 81 
 
 
     

                        +  27  = 55 
 
 
       3 × 21 =  
 
 
       70  –               = 38 
 
 
       52  –               = 46 
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  1. 416  or  461       

 

2. Must begin with 7. Any combination thereafter.      

   

3. 18,    28,     63,     32,     6       

 

 

 

 

 


